FgArea: [0 ]
NC11 P3-11
2025-06-07 (Day 66)




—o— VI

2500 4 —®— VO

2000

1500
1000

500

60

50

40

30

20

10



VN

1

50

30

20

2000 A
1750
1500
1250
1000 ~
750 -
500 -
250 -



1 0IR

——




o 1 VI vs Du o
2500 -
[ [
(]
2000 - @
(1 J
()
()
1500
o0
o 00 [
=
1000
. o
500 - ”.'
0 ] T T T T T
0 1000 2000 3000 4000 5000

DU




FR

1

T
60

50

T
40

30

20

——
0451 &

0. 60
0.55
0. 50
0. 40
0.35
0.30
0.25



40

30

20

1 setVI

+ S - o
T T T T T T T T
o o o o o o o o o
o) © < N o <o) © < N
- =t - - -



1 (fgArea = NA)

®
5000
4000
3000
2000
—@— ECI*10% I
—0— ECO :
I I 1
T T
0 10 20 30 40 50 60



—&— PHI*10%

7.5 4 —®— PHO

7.0 1
6.5 1
6.0
5.9

60

50

40

30

20

10



Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11

BiE) | GEBRTK (F) | ERE(EA/AR) | EREREGB/R) (XS R

07:30 278 150.0 2. 888 RS FiHRe07:30 KREIEF (KREAERSE)
08:05 278 150.0 2.888 BS| FMHA@08:05 KIENFEF (RAMEESE)
08:40 278 150.0 2. 888 RS ThHA@O8:40 KENIEF (KAEEE)
09:20 278 150.0 2.888 BE| TMHA@09:20 KENFEF (RAMEREESE)
10:05 278 150.0 2.888 Rg| FiHHe10:05 REEF (KEERESE)
10:45 278 150.0 2. 888 RS ThHA@10:45 KEIEF CGRAFER)
11:20 278 150.0 2.888 BE| TaHA@11:20 KRENFEF (RAMERESE)
11:55 278 150.0 2.888 RS FiHRe11:55 KREBFE (REAERSR)
12:30 278 150.0 2.888 RS ThHA@12:30 kENFEF (RAHEEER)
13:05 278 150.0 2. 888 RS FiHRe13:05 KREEF (REAEHSE)
13:40 278 150.0 2.888 RS FiHRe13:40 REHEBF (RAERSR)
14:15 278 150.0 2.888 BS| ThHA@14:15 KREFEF (RAFESE)
14:50 278 150.0 2. 888 RS FiHAe14:50 KREEF GREAERS)
15:30 278 150.0 2.888 RS FiHRe15:30 REHEBFE (REAERSR)
16:15 278 150.0 2.888 BS| ThHA@16:15 KENFEF (RAFESE)
17:05 278 150.0 2. 888 RS ThHAe17:05 KEIEFE (CKAHEERE)
21t 4448.0 (16)%) 2400.0 323 KEC: 2080.0, PH: 5.9

FEIKECE (1877.0 vs 3663.0) 15
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P3-11_0, Day=66 (2025-06—07)
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P3-11

FfiE) | EBIAT (FD) | ERE (BEA/) | BEREE(B/R) | XS ERE

06:30 283 150.0 2. 888 RS {Ri%006:30 Bz (REAERESE)
07:05 283 150.0 2. 888 S| {Ri&e07:05 Bal (REAERHSE)
08:00 283 150.0 2.888 BE| {RRi%@08:00 Bz (RFEAEREEE)
08:40 283 150.0 2. 888 RS {Ri%e08:40 Bz (REMERESE)
09:25 283 150.0 2.888 S| {Rig&e09:25 Bl (REAEESE)
10:00 283 150.0 2.888 BE| Ri%@10:00 Bzl (REAEHE)
10:35 283 150.0 2. 888 e {Ri8@10:35 Bz (REAERSE)
11:10 283 150.0 2.888 Bl Rige11:10 Ba) (REEESE)
11:40 283 150.0 2.888 S| Rige11:40 Bz (REAERSE)
12:10 283 150.0 2.888 B Rige12:10 Bz (REAERE)
12:40 283 150.0 2. 888 Bl Rige12:40 Bal (REAEESE)
13:10 283 150.0 2.888 el Rige13:10 Bzl (REAEHE)
13:40 283 150.0 2.888 BS| 1Ri%e13:40 Bz CGGREMRESE)
14:10 283 150.0 2.888 S| Ri%e14:10 B3 (REERESR)
14:45 283 150.0 2.888 BE| Rige14:45 Ba) (REAEHSE)
15:20 283 150.0 2.888 B 1Ri%e15:20 B3 (GREMEEEE)
16:00 283 150.0 2. 888 e Ri&e16:00 Bz (REAEHSE)
16:45 283 150. 0 2.888 | {BRig016:45 B3 (RPERKSE)
24it]5094.0 (18%%) 2700. 0 3ESFHKEC: 2080.0, PH: 5.9

MEBEHERE STAREARS (184.0 : 150.0), AIREHTF—@E XAH4
ZRIAEBRERE150. 0 ml.
FH[EKECE (1820.0 vs 3593.0) 5



P3-11_0, Day=65 (2025-06-06)
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.75 v 5 22.75
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22.75 -
.25 21.75 22.25
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: : 22.00
21.00
720 725 730 750 755 760 780 785 790 810 815 820
m=840,m FV0=0 m=870,m FV0=0 m=900,m FV0=0 m=930,m FV0=0
50l —@&— ME 23.75 —— ME |07 o wE 24254 —@— ME
254 23. 50 4 23.75 7 24. 00 4
-00 1 23. 25 - 23.50 1 23. 75 -
.75 i
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.50 |
22.75 23.00 23. 25
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Warning: col "MW 1] missing
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24. 0 A
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22.0 A 23.0 A
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T T T 23 0 T T T T T T T T T
750 755 760 780 785 790 810 815 820 840 845 850



m=870, FV0=0

25.5

25.0 -

24.5

24.0 -

23.5

—— MW

T T
875 880

m=990,m FV0=0

27.0

26. 5

26.0

25.5

25.0

—— MW

T T
995 1000

25.

25.

24.

24,

27.

27.

26.

26.

25.

m=900, FV0=0

—— MW

900

905 3
m=1020m FV0=0

0

—— MW

T
1020

T
1025

T
1030

m=930, FV0=0

26.0 —— MW
25.5
25.0
24.5
24.0
950 955 940

m=960, FV0=0
—— MW
26.5 A
26. 0 -
25.5 A
25.0 -
24.5 A
T T
960 965 970




hour

125

:20

:20

:20

:10

:30

105

100

80

- 60

- 40

§_

&
%
&
4,
%,
%
7%,
&
N
xe,%\
T
Y
2

4@
o
%,

%

%



P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

07:30 283 150.0 2.888 S| {Ri&e07:30 Bl (REAEESE)
08:25 283 150.0 2.888 |Z=| {Ri%e08:25 Ba (KREAEHE)
09:35 283 150.0 2. 888 FE| 1BRi%@09:35 Bz (kBERE)
10:25 283 150.0 2.888 FH| 1Ri%@10:25 Bzh (REBERSE)
11:20 283 150.0 2.888 FA| {Ri&e11:20 Bz (RAEEE)
12:20 283 150.0 2.888 FE| 1Ri%e12:20 Bz (kAERSE)
13:20 283 150.0 2.888 [Z=| 1BRi%e13:20 B3h (REEREER)
14:10 283 150.0 2.888 |Z=| BRige14:10 Bzh (RAEESE)
15:30 283 150.0 2.888 |Z=| 1Ri&e15:30 Bzh (RAEEEE)
17:05 283 150.0 2.888 [Z=| 1Ri%e17:05 Bzh (GREEESE)
24t 2830.0 (10%%) 1500. 0 JEPUHKEC: 2080.0, PH: 6.0

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEKECE (1773.0 vs 3573.0) 15

150.0), FAEEHT—@ % XA HS
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Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=420, FV0=0 m=485, FV0=0 m=530, FV0=0
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23.8 23 g -
22.5 236
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23. 4
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: 23.2
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P3-11

BYiE) | GEBRTIK () | ERE (EA/) | EREE B/ R) | XS ERE

07:20 288 150.0 2.888 el {Ri&e07:20 Bal (REEESE)
08:15 288 150.0 2.888 BE| {Ri&e08:15 Bl (REAEHE)
09:15 288 150.0 2. 888 RS {Ri8e09:15 Bzt (REERSE)
10:10 288 150.0 2.888 el Rige10:10 Bal (REEESE)
11:05 288 150.0 2.888 el Rige11:05 Bz (REAERSE)
12:00 288 150.0 2.888 B Rige12:00 Bz (REAERE)
12:55 288 150.0 2. 888 el Rige12:55 Bal (REEESE)
13:55 288 150.0 2.888 B 1Rige13:55 Bah (REEESER)
14:45 288 150.0 2.888 BS| 1Ri%e14:45 Bz CGREAEESE)
15:40 288 150.0 2.888 S| Ri%e15:40 Bz (REERESR)
=21t 2880.0 (10)%) 1500. 0 3 WUHKEC: 2080.0, PH: 5.9

MERRNER 2 5STREAERSE (187.0 : 153.0), AJEEHF—RZ XA45
ZRIA L PRIERE153. 0 ml.
H#ERECE (1780. 0 vs 3467.0) iH 5
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P3-11

FyiE) | EBIAT (FD) | EME (EA/4R) | BEREE(B/R) | XS ERE

06:35 300 150.0 2. 888 RS {Ri8e06:35 Fz (REAEHE)
07:25 300 150.0 2.888 BE| {Ri&e07:25 Fz (REAEEE)
08:55 300 150.0 2.888 BE| {Ri&e08:55 Fz (REAEHE)
09:50 300 150.0 2. 888 BE| {Ri8009:50 Fz (REAEHE)
10:35 300 150.0 2.888 el 1Ri&e10:35 Fz (REAEEE)
11:20 300 150.0 2.888 el Rige11:20 Fzy (REAEHE)
12:05 300 150.0 2.888 B Rige12:05 Fzy (REAEHE)
12:50 300 150.0 2. 888 Bl Rige12:50 Fz (REEEE)
13:40 300 150.0 2.888 S| Rige13:40 Fzf (REAEHE)
14:25 300 150.0 2.888 BS| 1Ri%e14:25 Fzh GREAMEESE)
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16:05 300 150.0 2.888 BE| Rige16:05 Fz (REAEHE)
=23t 3600.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 FEIELRT (184.0 :
ZRIAEBRERE150. 0 ml.

HEEHECE (1860.0 vs 3513.0) 5

150.0), FAEEHT—@ % XA HS
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